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Equal 9 step grey scaling betweeAL*: 18.0_96.0 and\L*: 22.4_125.1, normalisation: whité\V
L*0an=18.0,L*0au=57.0,L*0aw=96.0, Yoan=2.5, Yoau=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=35.7
NF22.4,L%1a0F73.7 L 1a0125.1, Y1 an=3.6, Y12U746.3, Y1 aw=180.0,Cray=Y1aw: Yian=49.6

http://farbe.li.tu-berlin.de/DEQ5/DEQ5LONL.TXT /.PS; véctor graphic VG;Mstart output, page 1/
N: no 3D-linearization (OL) in file (F) or PS-startup (S)

Equal 9 step grey scaling betweeAL*: 22.4_96.0 and\L*: 22.4_125.1, normalisation: whité\V/
L*0an=22.4,L%0a759.2,L70a=96.0, Yoane3.6, Yoar 272, Yoawr90.0, Coay=Yoaw: Yoan~24 .8
L*1an722.4,L*1 a7 73.7,L% 1207 125.1, Y1 an=3.6, Y1 2,746.3, Y100~ 180.0,Cray=Y1awi Y1an49.6
L*

no0.i L*0a L*Or Y0a YOr iL*la L*ir Yla Y1ir Y1rlL04 (y1r)1104yor n0.i L*0a L*Or YOa YOr iL*la L*r Yla Y1r Y1rlL09 (y1r)110%yor
(09 90 10 900 10} 1251 10 1800 10 1000 0,000 ()9 9%0 10 90 10 1251 10 1800 10 1,000 0,000
8 862 0875 685 0754 1123 0875 1352 0746 0,754 -0,000 8 868 0875 696 0764 1123 0875 1352 0746 0,765 -0001
751 (/7 765 075 507 0551 994 075 985 0538 0551 0,00~ 751 7 776 075 525 0566 994 075 985 0538 0567 -0.001
6 667 0625 363 0385 866 0625 692 0372 0386 0,000 6 684 0625 385 0404 866 0625 692 0372 0404 0,000
@5 570 05 249 o2sh 737 05 463 0242 0255 0001 5 502 05 272 0273 737 05 463 0242 0273 0,000
501 50{ @4 500 0375 184 0171 609 0375 291 0145 0171 0,000
@¢ 472 0375 162 015 609 0375 201 0145 0156 0,000
@3 408 025 117 009 481 025 168 0075 0093 0,001
@3 375 025 98 0083 481 025 168 0075 0,083 0,000
@2 316 0125 69 0038 352 0125 86 0028 0038 0,000
95 @2 207 0125 54 00% 352 0125 86 0028 00% 0,000 2
7 T@: 224 00 36 00! 224 00 36 00 0,000 -0,000
1180 00 25 00} 224 00 0,000 0,000
'semigiossy: 1SO 9241-306 | extrapolated surface colours matte surface colours extrapolated surface colours 20,0001
range: 2,5 <¥ <= 90 range: 3,6 <¥ <= 180 20,0001 range: 3,6 <¥ <= 90 range: 3,6 <% <= 180
oL araser (=12,...9) Al*=128  (i=12,..9) oLarase2 (=12,..9) Al*p=128  (i=1,2,..9)
DEQSO3N DEQS AN
Equal 9 step grey scaling betweeAL*: 18.0_96.0 andiL*: 22.4_1618, Whitel Equal 9 step grey scaling betweeAL*: 22.4_96.0 andiL*: 22.4_1618, WhItaV

[*0an=18.0,L* 0217570, 0a796.0, Yoanr2.5, Yoa U249, Yoaw=90.0,Coay=Yoaw: Yoan=35.7
L*1anF22.4,L* 10(792.1,L* 1ayF161.8,Y1a=3.6, Y11780.9, Y1a=360.0.Crav=Y1aw Y1an=99.2
L+

1004 n0.i L*0a L*Or YOa YOr iL*la L*1r Yla Y1ir Y1rVl12 (y1r)lllzyor
(9 90 10 90 10} 1618 10 3600 10 1000 0,000
8 862 0875 685 0750 1443 0875 2642 0731 0755 -0002
751 (07 765 075 507 0851 1269 075 1871 0515 0553 -0,002
6 667 0625 363 0385 1095 0625 1267 0345 0,386 0,000
@5 570 05 249 0256 921 05 809 0217 0255 0,001
50T @4 472 o5 162 o01ss 747 0375 477 0124 0155 0,001
@3 375 025 98 0083 572 025 252 006 0081 0,002
o5 @2 277 0125 54 0032 98 0125 11 002 00 0,000
@1 180 00 25 00 00 36 00 0001 0,000
'semiglossy: 1ISO 9241-306 ; extrapolated surface colours 20,0001

range: 2,5 < <= 90
ALre=9.7 (=

range: 3,6 <¥ <= 360
AL*=17.4

L"0an=22.4,L%0a759.2, L% 0a0796.0 Yoan3.6, YoaUr 27 -2, Yoaw=90.0,Coav=Yoaw: Yoan=24.8
L*1an"22.4,L* 15(792.1,L*1 a0 161.8,Y1a\=3.6, Y1a=80.9,Y1aw=360.0.Crav=Y1aw Y1arn=99.2
L+

n0.i L*0a L*Or YOa YOr ;L*la L*1r Yla Y1r Y1rVL17 (y1ir)l1iZyor
0 10 0 10} 1618 10 3600 10 1,000 0,000

Q9 o 9.
8 868 0875 696 0764 1443 0875 2642 0731 0,766 -0002
45 (07 776 075 525 0566 1269 075 1871 0815 0569 0,003
6 684 0625 385 0404 1095 0625 1267 0345 0,404 -0,000
5 502 05 272 0273 921 05 809 0217 0272 0,000
@< 500 0375 184 0171 747 0375 477 0124 0169 0,002
@3 408 025 117 009 572 025 252 006 0091 0,003
@2 316 0125 69 003 398 0125 111 0021 0,037 0,001
25".1 224 00 36 00! 224 00 36 00 0000 0,000
matte surface colours extrapolated surface colours 2=0,0001

range: 3,6 <¥ <= 90
AL*5=9.2

range: 3,6 <3 <= 360
A*=174 (=12
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Test chart DEQS; Equal 9 step grey scaling for display refle¥igr0,0, lightness ranges betwee
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lackL*n & white L*\y: 18 96 or 22,3_96 and 22,4_125,1 or 22,4_161,8; normalisation: White|
i) v - T




